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S 1A A
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A FAAEYgERL
A" oA A A
T A} 9 ANddad: 2016.3.7.
AEHE: 6 (NO. ) AlEAFHFA 7= A HE&d 7
A BEEF: Z(HESR) Ald )= 1A Al 2 A5
NEH5FY: 2016.2.24. A= A FH A AlzAHY:
9 = Density 2.734 g/a 2AASF P.I NP A g5 0.M.C 11.5 (%)
MAELA Liquid Limit NP (%) =AEAEH(CBR)  22.8 (%) AN (HNHEHE) 20.5 (%)
2R Plastic Limit NP (%) JURAEBE 904 g/ AR 2.2 (%)
(M')vnrwnﬂnc 1 ‘rw\
A7FESEx%
PERCENT PASSING OF
STEVTE ANAIYSTS
A o] A.7] 5 9 &
A 72 = ;A (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 _
53 -
- 37.5 -
E 26.5 -
oy =
Y 9.5 -
i 4.75 -
- 2.0 -
0 0.425 -
g 7 0.08 -
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F & SEE
IS Eep o Al¥ :2016.2.26.
AU kS F 2306:2000 o 7% 13 e17 S
oEE s(gES) o Al r 597
2 W = 1
W 1219.4 Di: W DW: I DV:
DV: 1108.4 TW:  205.4|DW: ™W: :Dw: ™W:
Ww:  111.0 Ws:  903.0|Ww: Ws: [Ww: Ws:
Weoo 12.3 W i W
EEE |
WW: 1308.2 DI: W DW: :ww: DV :
DV: 1185.9 TW:  176.3|Di: W: ti: TV:
Ww: 1223 Ws: 1009.6|Ww: 0 Ws: iy s
W o121 W: ! W:
T haeH] W) 12.2 i
2 W & | |
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DW: ™W: :DW: ™W: :Dw: TV:
Ww: Ws: | Ww: Ws: [ Ww: Ws:
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g A A
o AlEWE : E6 O AlFUA  12013.2.26
o AW ¢ KS F 2312:2001 o 71&AAR}  Hea 2 LY
O AAFEE I Z(HESR) o Al F =g A 5T
= = 9 B3 :2214.078 o AT 5892.9¢g
9 2214.078 cm’ 5892.9 g
2! T 12,734
(A 2+ =) 7 7(g) 1 | 10207.0 | 2 | 10350.9 ' 3| 10197
I I
RN B T (g) 4314.1 i 4458.0 i 4556.8
AOWE Y t(g/cr) 1.948 i 2.013 i 2.058
WW: | 1242.0|DW: lWw: | 1243.7|DW: W : 1312.6/DV: |
DW: | 1189.6/TW: | 207.5DW: | 1172.8|TW:|  180.6[DW: 1216.7|TW: 179.3)
Ww: 52.4 Ws:  982.1jw: 70.9 Ws:  992.2|Ww: 95.9 Ws:  1037.4,
W: 5.3 W: 7.1 W: 9.2
3 o 5 A ! !
Ww: | 1159.6/DV: lyw: | 1193.7|DW: W : 1194.0|DW: |
DW: | 1110.2|TW: | 207.4 |DW: | 1124.7|TW:| 206.3[DW: 1105.1{TW: | 180.6]
T 49.4 Ws: 9028l 69 Ws:  918.4|Ww: 88.9Ws:  924.5
W: 5.5! W: 7.5 W: 9.6!
I
3t g4 W(%) 5.4 i 7.3 i 9.4
Az = Yd(g/ar) 1.849 i 1.876 i 1.881
@ 7] 1+ A | |
Az 9 2 g/a) s o EEe —-— A
(AN E+EE) 27 (g) 4 10593.1[ L5 ] 10621.7 ! ] 10634.1
A2 A 7FA () 4700.2 i 4728.8 i A741.2
Ao EYt(g/an) 2.123 | 2.136 | 2.141
Ww: | 1371.2|DW: lyw: | 1432.8|DW: o : 1397.1/DW:
DW: | 1248.5|204| 176.3|DW: | 1281.0|TW:| 172.5/DW: 1236.3|TW:
Ww: 1227 Ws:  1072.2)Ww: 151.8 Ws:  1108.5|Ww: 160.8 Ws:  1056.1
W: 1.4, W: 13.7! W: !
IR .
WW: | 1276.1|DW: byw: [ 1488.2|pv: W : 1513.7/DV:
DV: | 1161.8|TW: | 179.9IDW: | 1339.5|TW: | 206.2[DV: 1338.7|TW:
Ww:  114.3Ws:  981.9[Ww: 148.7 Ws:  1133.3|Ww: 175 Ws:  1159.2
W: 11.6, W: 13.1) W: |
Bt gl W) 11.5 i 13.4 i 15.2
A2 % Yd(g/an) 1.904 | 1.883 | 1.859
9 37 =5 g
52w e e 2.080 2.001 1.932
H] Il
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B4l
—=—CEDY —.—e3 232

18.0



Adz 2016.2.26.
+KS | 2309:2004 o 71&AYA HEL 2 2¥
FH(EEE) o A A A5AA 5

N71de] AxFA(g] A5 AxFA(g) &A% (2)0.08mA] &= (%

B C A

B-C
—X 100
2500.8 3463.2 1475.9 B

1987.3 513.5 20.5%




9 2= AE

3 E6
M KS F 2308:2006
T Z(HER)

o Al &8 z HAEL

1o

= % Ll kel 1 2 H] 3L
v & H 9 H ol 23 41
H o % Wt (g) 81.710 76.410
H W + /75 Wai (g) 330.260]  326.040
Waig @3S wo] == Ti(TC) 15.9 15.9
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 0.999650| 0.999650
Wai - Wf (g) ® 248 .550 249 .63
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 330.173|  325.953
2.9 F A F
HSsH + “HAZA R ) 2F
I b2 T 546,000 | 341,870
Wh(g)
s SA4T o] JaxmHe
Hagel % () S I
xR AR T Wo (g) 25.060 25.090
T(C)Y wo Wo
59 HlF = 2.741 2.735
(TC / TC) o + (Wax - Wb)

2L tgt 5o W (g/cn) 0.99861| 0.99861

E 9 9 Z=(g/cr) 2.737 2.732
g 4 # 2.734 (g/cxt)
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75

53

37.5

9.5

4.75
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0.425

(@)

.106

0.075
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100.0

100.0
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SAYTAME(H2H AE)

o AFHT : EG o AldUAR  2016.2.29.
o AIFEWR ¢ KS F 2302:2002 o N&EAAA 22H 4 4
O NIFEZLE © S (HEL) oA 2 USEHA A -
_ NO. 10ROl 22 Al2=2 22 4D
x 29 RI|HE2
MAIES! S22 (W) CAHEAZ AZSAH W)
NE
= (RAZIAEAZ+2]) 3805.1 g Wi+27]) 2 1,313.6 g
27|27 759.4 g 27|27 759.4 ¢
HUAZO RIAZT2AHMW) 3045.7 g Wi 554.2 g
1. ommil SDHAIRO B2H =H
NO 1 NO 2
W 952.2 W 908.0
Dw 861.8 Tw 1771 Ow 822.6  Tw 180.6
Wiw 90.4 Ws 684.7 Wiw 85.4 s 642.0
W= 13.2% W= 13.3%
HREAH 13.3%
2. HAZAESSH(WO) = W/ (1+w) 2689.3
3. omnil SELHXAIS2H (W)= W2=WO-W1 2135.1 g 2135. 1
4. P2.0(2H2.0mOIHS HHEDE)= W2,/ WO 79. 4% 74.0%
5. 2mAl 0l 22 Al2o M2
H AL 1 2 1 2=1/W0
W Eoeg =299 g?l;!;fﬁg) zﬁﬁ'j a28% | gon |7 Ths T
75.0mm 1 437.10 | 437.10 0.00 | 0.0% 0.0% | 100.0%
53.0mn | 2 461.90 | 461.90 0.00 | 0.0% 0.0% | 100.0%
37.5mn | 3 471.60 | 471.60 0.00 | 0.0% 0.0% | 100.0%
%6.5mn | 4 469.50 502.60 33.10 | 1.2% 1.2% | 98.8%
19.0m | 5 456.80 563.80 | 107.00 | 4.0% 5.2% | 94.8%
9.5mn 6 489.70 661.40 | 171.70 | 6.4% 11.6% | 88.4%
4.75m | 7 524.00 647.80 | 123.80 | 4.6% 16.2% | 83.8%
2.0mn 8 448.90 567.50 | 118.60 | 4.4% | 20.6% | 79.4%
554.2  20.6%
« AXA22H: 554.20 g




£ YTAIE(2.0mmA SUE =4)

o AFHIT 1 E6 o Alddxt  : 2016.2.29.
) }\] QHO]—HHj KS F 23022002 O 7]%:]_1?3]}]_ zc"_g;—g 4] - ':{r
o NPEE (s (HESL) o A @ A : USH
(ZBIAZTAIZH+ZD)2A 692.11 ¢ £9|8Hl(w) : 12.2%
SI|2H : 577.00 ¢ g0l (Gs) : 2.734
SIHATZASE2EA W; : 115.11 g AR (Pl) N.P oA . AMUES
HAXAIZE2H : Ws=100W; /(100+w) : 114.97 g
P2.0(2F2.0mmHlMe JIIHEWUS: 79.4%
1. 2IAXTANZRS &==H EFH(XAE=HI)
NO : 1 NO : 2 NO : 3
W = 1219.4 W = 1308.2 W =
oW = 1108.4 Tw = 205.4 oW = 1185.9 Tw = 176.3 oW = Tw =
Ww = 111 Ws = 903 Ww = 122.3 Ws = 1009.6 Ww = Ws =
W= 12.3% W= 12.1% W=
A4t 12.2%
2. HISH AE
== Z LAl 2H HEHAS ZCHAAHD(mm) 2l 2 S N il A ‘ = =| E&Jt
SEN ) [AreE [ 0 [seuoim] VUt | J(@on)/oGs ) [aO@z0m| —oMNTE |TEATE T PDIRSAE) nay
10:01 1 0.0185] 0.0185 133.6 133.6]  11.5584 0.0039 0.0453 25| 0.0020[ 0.0205 28. 1% 10.9%
10:02 2 0.0175] 0.0175 135.5 67.8]  8.2320 0.0039 0.0322 25| 0.0020[ 0.0195 26.7% 10.4%
10:05 5 0.0150] 0.0150 140 .4 28.1 5.2984 0.0039 0.0207 25 0.0020f 0.0170 23.3% 9.1%
10:15 15 0.0130] 0.0130 144 .2 9.6 3.1009 0.0039 0.0121 25 0.0020f 0.0150 20.5% 8.1%
10:30 30 0.0115] 0.0115 147 .1 4.9 2.2146 0.0039 0.0087 25 0.0020f 0.0135 18.5% 7.3%
11:00 60 0.0110] 0.0110 148 . 1 2.5 1.5711 0.0039 0.0062 25 0.0020f 0.0130 17 .8% 7.1%
14:00 240 0.0100] 0.0100 150.0 0.6 0.7907 0.0039 0.0031 25 0.0020f 0.0120 16.4% 6.5%
10:00 1440 0.0085] 0.0085 152.9 0.1 0.3259 0.0039 0.0013 25 0.0020f 0.0105 14..4% 5.8%
HULAHAS EF (Cm) : 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 12:8E 28 220 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V)= 8.70 cm/g Gs/(Gs—0.99678) *rw 1.574 g/on Vb : —?’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. Mot
Hl & 1 2 3=2-1 4=3/Ws 5 6 7=6%P2.0
- = H2AS+ | ©2A2
A Yz |82 25 o 5 M= &R E JIESNE |EEIJIE SsS
2| ZAlg ZFAlg
0.85mm(NO.20) 1 437.3 456.4 19.10 16.6% 16.6% 83.4% 66.2%
0.425mm(NO.40) 2 369.7 399.0 29.30 25.5% 42 . 1% 57.9% 46.0%
0.25mm(NO.60) 3 380.0 397.8 17.80 15.5% 57.6% 42 . 4% 33.7%
0.106mm(NO. 140) 4 345 .1 369.5 24 .40 21.2% 78.8% 21.2% 16.8%
0.075mm(NO.200) 5 352.0 356.0 4.00 3.5% 82.3% 17 . 7% 14.1%




CBRA & =

o AlFHE E6 o Alg A=} 2016.2.29.
o Ay KS F 2320:2000 o 7]&AA} - HeHd HEE
o AdEE T(HESL) oA 8 A A=Y

Z5 NAEE] (oAl (e AN wwA] Botr [2Ea a0l |sred | 540
A lzemsl ™ A @ | @ | @ | @ | @ | @ | @
T (g)

3X17 37 8751.7 | 4571.0| 4180.7| 2209.21| 1.892 | 11.5| 1.697] 8
3X42 38 9016.0 | 4609.2| 4406.8] 2208.04] 1.996 | 11.5| 1.790| 21
3X92 39 9174.4 | 4630.6| 4543.8| 2201.71| 2.064 | 11.5| 1.851 26




2}

H1

G U G U S G G G G G G G G G G G G G G G

.930
.920
.910
.900
.890
.880
.870
.860
.850
.840
.830
.820
.810
.800
.790
.780
.770
.760
.750
.740
.730
.720
.710
.700
.690
.680
.670

Z A=Y EX0.95

\\

- =1.904X%0.95=1.809

3 4 5 6 7 8 9

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
+dCBR



AR5 A B YA

= = =S “1:].’ A

o AT E6 o Algdx} 2016.3.5.

Algad o KS F 2320:2000 o N&MR} : Hed 2 ¥
ARER L H(Eg A A A5

7] 01 2k

7B J‘%(m‘fn)" 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fkg g 0 19.0 39.0 57.0 75.0 91.0{ 107.0 136.0| 167.0| 228.0| 285.0
=] == ]_]:

37 GRS 0 1.0 2.0 2.9 3.8 4.6 5.5 6.9 8.5 11.6 14.5
(kg f/
=] == ]_]:
?Mﬁ/ﬁf)h 0 0.095| 0.195 0.285| 0.375| 0.454| 0.534] 0.679| 0.834 1.139 1.423
Z{g g 0 31.0 74.00 126.0 177.0] 221.0| 269.0] 351.0 437.0 600.0| 734.0
=] == ]_]:

38 CRS 0 1.6 3.8 6.4 9.0 11.3 13.7 17.9 22.3 30.6 37.4
(kg f/
=] == ]_[:
?M”Ij;‘;n; 0 0.155|  0.370  0.629] 0.884| 1.104 1.343 1.753]  2.182|  2.996|  3.665
fkg f) 0 48.0] 111.0l 177.0] 236.0| 201.0] 343.0 443.0 545.0 769.0| 960.0
=] == ]_[:

39 °(12;7°f/* 0 2.4 5.7 9.0 12.0 14.8 17.5 22.6 27.8 39.2 48.9
=] == ]_[:
?M”Ij;‘;n; 0 0.240|  0.554] 0.884 1.178|  1.453 1.713]  2.212|  2.722|  3.840|  4.794
17 3 (2.5m) g'g <100 = 6.6% 5. Omm 100'83 <100 = 8.1%
42 3 (2.5m) éé <100 = 16.0% 5. Omm 120-23 <100 =  21.2%
92 3 (2.5m) ég <100 = 21.1% 5. Omm 120-73 <100 = 26.4%
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o AFHZ : E6 AlgdA 12016.3.2.
o AlEHMH D KS F 2320:2000 o 7]%1 o] 2} Jqf_u ,q 2%
o ANFEFLE I HF(HESR) o A ¥ A A= 272
M SHA
Al 1 p)
2 7l H 5
E7|2FA+H25FA
Z7|FAH+0EZEA
= o & A 0 0
Z 7] & A
o 2 Al B2 2 A 0 0
st £ H| #DIV/0! #DIV/0! #DIV/0! [A|RAM & otE
O M SHA|
Al o 3 = 1 2
= st o=l
2 7 H 5
27|24 + 227
27|27 + ofE2E 27
2 o 2 7 0 0
g 7 & A
of 2 Al 2 27 0 0
5t = H|(%) #DIV/0! #DIV/0! #DIV/0! |A| R M & okE
s ™
o4 M 5|
=z
<+
o
o
ar
0
10 10.0 100.0
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